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Gaurav takes twice as much time as
Azad and thrice as much Vijay to finish
a piece of work. Together they finish the
work in 1lday. What is the time taken by
Gaurav to finish the work.

Mg fedl $9 &1 o 7 Aore |/ o O[AT
w9 ar fawa | &9 A 9w oar @ il
ey & @t 1 9 4 R dd 2 R &

(c) 2 days (d) 4 days

&l foad fear 9 wwra sR?
@ Na) 6 days (b) 3 days



Azad can do a piece of work in 12 days.
Azad and Gaurav complete the work
together and were paid Rs 54 and Rs 81,

respectively. How many days must they
have taken to complete the work

together?
3ot fadY & &1 12 AT & H% adHar 2 |

AoITe 3R MRG ST fAddy 19 dd 2
MY S= HHIM: 54 BUA 3N 81 vud A4
%Ia“gﬁﬁfﬁﬂmwaﬁmﬁa—cﬁ

fos o T2 7
(a) 4 days ° (b) 4.5 days l

) 4.8 days (d) 5 days




(a) 245
(c) 300

Gaurav, Azad and Jeetu are employed to
do a piece of work for Rs 529. Gaurav
and Azad together are supposed to do

19/23 of the work and Azad and Jeetu
together do @f the work. How much

should gaura paid?

R4, JATere dA7 Sl fedl M B A D

forr Y@ wd & forae fav S8 529 w9
frord 8 TIRG qAT ATNTE H1H &1 19/23 1T
8
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(b) 295 xa 2 o wva & dm &1 feaar dwn
ud) 345 iy arfea?



A B C=H
Lis by ©

A takes S5 days more than B to do a
Bcertain job and 9 days more than C. A
and B together can do the job in the
same time as C. How many days. A
would take to do it?
A f&dl 9 &1 31 § B 9 5 f9 S«
dr C 9 9 & Suier oar @ a1 A 9T B
ety &1 &1 I & g d dxd 7 fords

4 C,dl A®M e
(a) 16 days (b) 10 days
J 15 days (d) 20 days

©



A can do some work in 24 days. B can
Ql’ 20 do it in 32 days and C can do it in 60

‘3’2_ ‘130 I days. They start working together Aleft
ja'&(lafter 6 days and B left after working for

8 days. How many more days required

¢ to complete the work.
J ngAﬁT\‘ﬁﬂv‘mﬂﬁ 24 fes1 4, B 32 fe1 o qeon

Y C 60 faT # &Y wdhar 21 4 UH W B
T&lﬁaﬂﬁ%AsﬁqmamBsﬁ:rw
l _ll_waﬁmﬁ%a?gﬂwﬁﬁﬁahﬁﬂ?

136 X W gh?
_QQA @ (a,T B (b) 25

e 22 (d) 20




A is as efficient as B and C together
working together A and B can complete
it in 36 days, C alone can
complete it in 60 days. A and C work
together for 10 days. B alone will
complete the remaining work in.

A AT @ $9rd 7 foasm B IR € faax
ao‘maﬂﬁ%Aal“r‘\'Bsﬁsef%ﬂ?ﬁt{gTaﬂ
gad B, C ey 60 faar # qx
B gpd 2| A 3R C Aaax 10 feAf a&
®d 2l Y Hd Hl B Abar fhad
fel d grT HRI?
110 days (b) 88 days
(c) 84 days (d) 90 days



X and Y complete the work in 40%

X lesser time than Z while Y and Z can

2 5 complete the same work in 60% lesser

time than X. If they together can

% z! complete the whole work in 20 days,

l XBthen in how many days will they alone
complete the work.

X At Y fadt &9 & e 91 Z2 9 40%
“ﬂqwﬁaﬂﬂﬁémﬁ?xamzw
v‘d‘vmaﬁﬁwaw Udh 91T X 4 60% &H 99y

® - lﬁaﬂﬁéa‘mﬁWWBﬁmaﬁzo
(a) 56,58,70 ) 70,58 .53 i A wwra ax @add 2 ol o
18 1 18 AT dM B fhad fe A wwr@

58--.70,51 d) 53=,58-2,70 .
(€) 581 (d) 533,581 70 H¥a1?




Q|C A, B, C together can complete the work
A*B . 6 in 36 days. The efficiency of A and B is

€ Q ' 3 ' twice of C, and A and C is three time of
el n how many days each can complete

) X3 i
, N

. B a1 C 91 faex fodl o119 &1 36

j
Bﬁ days &7 4 QX1 & WHd 2, A AT B &I
B~ &1 &HAT C ¥ Q1 AT & dAT A TAT C &l

(b.(“_z Nt

(d) ﬂ 100,200




A and B alone can complete a work in
10 and 15 days respectively. A and B
together work for 5 days and remaining
work is get completed by C in 2 days. If
they get Rs 6,000 for the work then the
wages for A, B and C per day is.

A T B I3 fHdl &1 &1 HH9: 10
aer 15 Rl # qRT ) 9Hd @ A a1 B
ey 5 foq & & $3d 2 I HH B
C,2 1 ¥ g1 ovar @ afe 39 &M & forg
3% 6,000 ©ud ficd @ a Sd &% % A,
B a1 C &1 yfafes da=1 fea=m &im? @
(a) 200,250,1300 MOAOO,SOO

(c) 200,300,400 (d) NOT






A, B and C together can complete work

A_ B e C in 1 days. A is thrice as efficient as B,
3_ ) l and B takes twice the time than C to
‘€ ) T complete the work. Find the difference
G ' - between the time taken by A and C to
H B complete the work.

' - A, B @1 C 91 fiaeax fedfl o &1 1 fa=
@ i RT &% 9bd & A @ &4 &¥9ar B 9
forpft @ 9om B & &9 @R1 &34 ¥ C 9

QAT 999 ofdl =& S &1d &l QT de A
AAGX\":QC* A dAaT C g1 ot 99y (feAt) &1 3fax <1d

3 B |
a) 1 (b) 2
(c) 3 (d) 4




A is twice as efficient as B, C and D
together take the same time to
complete the work as taken by A and B
together. If C and D alone can complete
the work in 20 and 30 days respectively

_6_=|7_ then A alone take the time to complete

it.
A @ HTF g9ar B & 14 gHar 4 A ©

C a1 D faar foft &M &1 forad awa 4
YT B = | Sad9 B 999 | A 3 B fadx
&d © Afq C TUT D I —3AaT Ul HH
&1 HH: 20 aAT 30 fa9 # @1 HX 9FHd @

dl bl A B Bl fhaa foa o

HIT?
(c) 24 days (d) 30 day:@

(a) 12 days \MIB day
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A, B and C can complete a work in 12
days A and C together can complete
twice the work of B, and A & B together
can complete thrice the work of C. In
how many days they three working
alone can complete the work.

A, B @1 C 91 fasy fodl &rd &1 12
f & 99a &Y 9ad & A 3R C 9
frer e B ¥ QAT &1 &3d © T A 3R B
a1y fiaey ¢ 4 9 A1 s avd @ dl
dFl T3t fhad fe) ¥ &1d 9ara
BRI
4

(a) 28_,42,48 Y 23,36,48

(c) 28, 36%,48 (d) NOT



Abhishek can do a work in x hours.
ho is 60% more efficient than
Abhishek can complete a work S5 hours
- Q"ﬂearlier than Azad. Eﬂzad worked for 5
hours and finds out only 25% of work is
completed.j Remaining work in
completed by Abhishek and Gaurav
together. Find out the total time taken

Ab i

A _me'in which work is completed (in hours).
Yy s T3 = IS x 9 d YT &Y Gdhdl = NG ol
— H’ 3 I d d 60% Gl & 3ol ¥ 5 He

(a]E lwﬁmwwéaﬁeﬁww%ﬁi
- 13 25% HTH 81 YRT 3T & 99T 3T B1H AN
156 - g 151 ik ke fraey avd @ e fha w2 g
19 ) 17 CoBh ?



30d qu g ‘BC' DC in 10 days. If A and B complete a th

A is thrice as good as workman as B and

therefore is able to finish a Job in 60
days less than B. if A and B complete
2/3 rd of the anjnd then A is replaced
by C, the remaining job is done by B and

3

S days. How long will it take for A, B, C

oy» 2 ‘af the Job and then B is replaced by D
w_ the remaining Job is done by A and D in

and D to complete the Job working
together.

A & Tgar B | o9 (A1 € 3IX 98 B YU 60
f&aT ugadl &9 YRT &Y <ar =21 afe A IR B
&RT 2/3 AT &H HIA & d916 A DI o8 C
AT SIAT 2 3R 9491 83T S B 3 C 10

faar & gqur vd 21 afa A 3R B &1d &1
% HAT YRT Hd & 3 B &I S8 D
iy 5 fa7 & =T @¥=%d ©1 A, B, C, D
friaest a8 & fad s 7 gz 717

(a) 12 days (b) 15 days

(c) 10 days (d) NOT




%ﬂwwaﬂﬁ%’aﬁBaﬁWD

frasy 5 7 # g1 &%d 21 A, B, C, D
fraer a8 &M fead & & qrr a¥?

12 days (b) 15 days
(c) 10 days (d) NOT
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complete a work in 30 days working 6
307(6": Is‘ our a day. A started the work and

,3 \4 S worked for one day and next day B
’ ‘2 Joined him who is twice as efficient as
n B C- D ‘E A. on next day C also Joined them who

is thrice as efficient as A and this

process continues. In how many days
H' MB W *** ® = e . total work will be completed if they
| +3 4 £+10415 ..-:

work S5 hours/days.
A gfafes 4 6 €92 &M &d U U HIH HI

< — 30 e ¥ g1 #xar 21 A H YH HIar

543\35 A & ok w R o svar 2 sk s R B
_LA of f6 A @ g1 <& & A & W e

@) 15 days RV . ,fb) 16 days 1 I R C A ¥ A T @ 2
'2\96)

1 il 8 wiar @ 3R Aafe 9 goar & dl
(c) 15~ days NOT fdad Rt & &m g & wgm afe 4
2 gfafess 5 g2 & #d =



complete a work in 30 days working 6
307(6-': Is‘ our a day. A started the work and

,3 Ll worked for one day and next day B
’ '2 Joined him who is twice as efficient as
ﬂ B C, D A. on next day C also Joined them who

is thrice as efficient as A and this

H’ MB W process continues. In how many days

total work will be completed if they

__ work S hours/days.

5+'5+30+SD4' -|§°Auﬁ1ﬁ=rﬁszféwaﬂﬁ§qwmaﬁ
¢ s 630 fot & qur Fvar 21 A IR YH FaT @
£I+3++Ib+’ +‘i-‘-3 -@..imwﬁ?ra?ﬁaﬂm%aﬁ?mﬁ?rB
3S)Sd | B A5 AR E R AD WY Wi
al 15 davs b) 16 davs &1 3Tl fa7 € o1 A & 171 =1 <& @
. - B OB e e & v o et v £
(c) 15= days (d) NOT foad Rt & &m qu & smem afk 9

2 gyfafes 5 g2 & #3d =



complete a work in 30 days working 6

BOKG-": ls‘ / our a day. A started the work and
v

,3 worked for one day and next day B
’ ‘2 Joined him who is twice as efficient as
ﬂ B C, 36 A. on next day C also Joined them who

\-—J is thrice as efficient as A and this
process continues. In how many days

H' MB W A‘ MB ﬂ'-l-BK total work will be completed if they

' 6 work S hours/days.
3 A gfafes 4 6 82 &9 H¥d U UH B &l

T
- |0 30 At % q Fwar 21 A B ¥ pear @
IR s fas orf dvar 2 @R arral fas B
ol f& A 9 QAT <& 2 A & 41 A
@) 15 d3d 2 (b) 16 days €91 S Rt C St A ¥ v T @
1 — e 8 orar & 3R afe H9 adar & i
(c)15—days‘e3(le0T fpaat fat & &m qu & wgm afe 3
2 gfafess 5 g2 &% #3d ©



Each of A, B, C and D need a unique
time to do a certain work. A can work in
‘*’ days and B can do the same work in
‘2x’ days. A started the work and do it

2
for 225 days, then he is replaced by B,
and B completed remaining work in the
same time as C and D together can
complete the whole work. The ratio of

efficiency of C and D is 4:5. If C and D

ﬁ - ‘ ? QZ work for alternative days starting from
|8 (10 _\_ ‘ C, then they can do the total work in
‘)(:.-a—o- 44% days. Find the value of ‘x’.

J LR ¥ c sk D vdw B @ B A A

__;20_9 mw—wwm%:&maﬁ‘x’ﬁ?
7 3R B, 2%’ &9 # &xar 8, A &M IY®
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ST B AT AT 3R B A 4T 3T & SaA
gl foq o g1 fpar g fes 4 ¢ 3R D
ety qRT & &Xd & C I D &I & I
IUTd 4:5 2 | If§ C & IYHIATT 4 C 3R D

ummﬁﬁ'wwﬁ%‘,ﬁaﬁ%%ﬁ?

4 QRT &M & ofd & | ‘%’ T A9 10 D92
100 100

i bl —
() — (b)
J/f_gg (d) NOT C




B is 40% less efficient than A and

1
efficiency of C is a th of efficiency of A

and B together. If A and B started the
work together and C Join them every
third day and all three complete the

work in 27% days, then find B alone

__2 ID ﬂ@inmplete the work in how many days?
3 B & &9l A9 40% $H ? IR C & &var

AWBﬁﬁWWW%%A#BH%

a1 fiasy &M % fear 3k C, A 3iv B
& IR fos Agg wvar 2 ik di=f freas

(a]48days© (b) 96 days @™ 27%%?#’@&?}?.613&3@@
1 80 days (d) 120 days gy o & g1 @xa & feasn wwa atar?
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F.Sx8—6o D{ 6
\sm—ai% (B

253
(a) 33; ai.? '

(c) 19 ; daysg

One day efficiency of A is 20%. More
than B and that of C is 20% less than B.
D can do some work in twice of time as
A, B and C complete the same work
together. If first eight days D work alone
after that he left the work & A, B, & C
complete the remaining work in 12
days. Find in what time work will be
completed. If B & D work in rotation on

each day starting with D.
AP s e & &1 guar B &1 o1 |

20% 3JAIH & I C &I S &H9dr B &I
qoT d 20% $49 2| f&dl a1 & 3 @
fog A, B, C frasx forasr w99 &d 8 D

ﬂﬂaﬂﬂﬁ’cﬁﬁiﬁfﬁqggmwﬁmé
E‘fﬁﬂﬂﬁﬂﬁﬂﬂﬁ%ﬁmgwwémﬁ
afe ggel 8 fasT @l & FXar & SUD 91







It takes six technicians a total of 10 hr
éX'o__, 6.4."‘5 to build a 'new server fl:orn direct
computer, with each working at the
same rate. If six technicians start to
ild the server at 11 am and one

|l boSpm—s 6x6~34
chnician per hours is added beginning

at 5 Pm, at what time will the server be
Ql'dﬂﬁ ﬁ’ completed?

q_ 6 PRI 10 gve ¥ UH 4T gax YH3ATd A
gﬂ g1 ]d @, 8 SRR WA G ¥ &M HIdl
—_— 2| 3R 6 BRI 11 am ¥ FdY 91 Al
Wﬁ?ﬂﬁSPmﬁ?jﬁWﬁﬂ%W
HRITR oiis fear orar 8 @ sita difsie &t

Hdx fha+l 991 d& 99 ST |

8Pln (a) 6:40 pm (b) 7 pm

(c) 7:20 pm {48 pm
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In nuts and Bolts factory, one machine

produce only nuts at the rate of 100
nuts per minute and needs to be cleaned
for 5 minute after production of every

‘ N"’QOWL\ 1000 nuts. Another machine produces

Lonly bolts at the rate of 75 bolts per
|Qohufninute and needs to be cleaned for 10

minute after production of every 1500
bolts. If both machine start production
at the same time, what is the minimum
duration required for producing 9000
pairs of nuts and bolts?

Uh Fc—didc &I haed] & Ud 739 dad
d¢ ¥4Il & 100 We/fiMe & ¥ 9 39
73l &1 1000 <€ 9911 & 91¢ 5 5 @
fae W% & gsar @ oyt wEfle @daa




dice 941dl & 75 dice /fFe @ v 9 3R
39 #39 &I & 1500 diec g1 @& 95 10
fiie @ fov 9% &%=T gsar 21 3R <l
9 W1 A B YH Bl © Al 98 YA
g9Y 9drv forad 9000 Te—dice & Sisl &I

feeior 8 Sme?
(a) 130 minute (b) 135 minute
(J’f 170 minute (d) 180 minute

@,
| Fo wamity



1
A can dig — part of the field in 20 hr.
a

while A and B together dig complete
field in 60 hr, then find how many part
of field B can dig alone in 20 hr.

A, 20 59 § W BT © W @ie gdar @

a

weafe A 3R B fAiadady 60 g2 # Y1 @d
e bd & SId DIt B 20 gl & Td
&1 fHa-T 91T dd Wi IAdhdl a7

a-3 1
(@) = () - ®
(c) 3a M—S

a-3 3a




